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ELECTRONIC DEVICES & CIRCUITS
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Note : There are three sections A, B and C in the paper.

(ii) DT T 3T g 1 % a4t 10 9T @ I G | e YT U 3 HT 8 F
Tt 10 977 TGHE JHFR & JoA % 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) @ & & 8 Fw 7 @ T 6 ¥l & IR QN | IIF 3w 3 30k B & G
FTHT 5 ATE/50 I155) § ITH G |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) @ F 6 T 7 @ e 4 gl @ I A | T ¥ 8 30k B 8 T
57T 15 c775/150 Yregl 7 IR 1974 |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v)  TF QT & G T B} FHAR TF T & Hilord |

Solve all the questions of a section consecutively together.
(vi) 2 yrwian & s # @1 R 7 s SgEr # A 8 |

Only English version is valid in case of difference in both the languages.

YA -7
SECTION - A
1. () e i de % o fivg St 3T (forbidden energy gap) FH € FH
foperd g ?
(a) T (b) GRS
(c) FHaTH (d) Sue H Y HIs &

The forbidden energy gap between the valence band and conduction band will be
least in case of ‘

(a) Conductor (b). Semiconductor

(¢) Insulator (d) None of the above

(1 of 4) P.T.O.
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(i)

(iif)

@iv)

™

(vi)

(vii)

Uier TCATS 1 Tt Hered (ripple factor) AT &

(a) BT gL aE

(b) IIN.TH.TH. (RMS) qH F S €. IH T

(c) SAR.TH.TH. (RMS) A o & 7 1

(d) TR TUH 9 /. A.TE. (RMS) TF 6

The ripple factor of a power supply is the ratio of

(a) Peak valueto D.C. value (b) RMS value to DC value
(c) RMS value to peak value (d) Peak value to RMS value
IR SR it (BIT) ameniia yatfes d wiet-o9 SesH giar 2
(a) HIEE TR (b) Tad IS .

© (23 (b)gHl (d) I A @ B T

In a bipolar junction transistor based amplifier the emitter base junction is
(a) Forward biased (b) Reverse biased

(c) Both(a) & (b) (d) None of the above

I ol TR o &9 § ST i o fousd & o Geiford e gian @ |
() Te=E (b) e AT

(c) @fsHT (Active) (d) Eq@ (Saturation)

In order to use the transistor as an amplifier it has to operate in the region.
(a) Switched (b) Cutoff

(c) Active (d) Saturation

A.%.3. 8. (JFET) & o fHaet & 9 8

(@ e, fire, wis (b) @, e,

() TR, 39, FeAaet (d) Wi T 8BS &I

A JEET has three terminals namely :

(a) Cathode, Grid, Anode (b) Source, Gate, Drain

(c) Emitter, Base, Collector (d) None of the above

fora wiar Arfieheaet feame & fie <ifre 7 8 7

(@) W.w%3.&. (JFET) (b) TE®

(c) SHH (d) S Tt

Which power semiconductor device is not having the gate terminal ?
(a) JFET (b) TRIAC

(c) DIAC (d) All of the above

HiEthe & dred 8

(a) Tie AR Ul St Hleg Thae ZIf~reet
(b) T ATiTeTEs fufeTerla ST Bid Shee L
(c) T ATeETss ffereria hies shee Ciforeet

(d) WA 3NeETEE AHIHUSF g 3hae It
MOSFET stands for

(a) Modern Oxidize Silicon Based Field Effect Transistor
(b) Modern Oxidize Silicon Based Force Effect Transistor
(¢) Metal Oxide Silicon Field Effect Transistor

(d) Metal Oxide Semiconductor Field Effect Transistor
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(viii) T8 € 3T (SCR) T ST fehart STt &

(a) UFCHRR & & (b) TEABRR Hl TE

© (a)d(b)THi (d) 3w H 8 HIE TE

SCR is used as

(a) A rectifier (b) An amplifier

(c) Both (a) and (b) (d) None of the above

(ix) T reea qifer THTe o SR W FRR 3t 1 e dem 3= Har g |

(a) STceEI® (b) FhE

(0) el (d) wRI-FAfR

A crystal oscillator generates electrical oscillation of constant frequency based on
the effect.

(a) Ultrasonic (b) Magnetic

(c¢) Piezoelectric (d) Photoelectric

(x) S Seew Flead (HKUMHH) I TAHRR W g fFan Smar @ df guehl T9e

BIGEIR :

(a) FAENR (b) AR |

(c) TAFTE R | (d) STF | F RIS T8I

When voltage feedback (negative) is applied to an amplifier, its input impedance
ga) is. decreased gb) is increased

¢) remains the same d) None of the above (1x10)

Qo —
SECTION - B

2. 99 3fETess (Intrinsic semiconductor) o SR e (Extrinsic semiconductor) Eal
i IR |

Define Intrinsic and Extrinsic semiconductor. 1%+ 1%)
3. STSUeR SEeE giineeR 1 ger 3 wh 3.4 (FET) % @ forfa |
Write the advantages of FET in comparison to BJT. (€))

4, STeR S e (BIT) % N1 &= (CB, CC, CE) i erT I |
Compare three configurations (CB, CC, CE) of Bipolar Junction Transistor (BJT). A3)

5. SR (DIAC) S SATae gy |

Explain the construction of DIAC. 3
6. s urelimrEr FH AT (topologies) o M faflad |
Write the name of feedback amplifier topologies. (€))

P.T.O.
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7.

10.

11.

12.

13.

14.

15.

PN S/ S/TE o fefu V-1 famiwan a3k (characteristics curve) Y 3T 3Eh! AT
iR |

Draw the V-I characteristics curve for PN junction diode and explain it. A3

FET o1 971eht0T (classification) ferfEa |
Write the classification of FET. : 3)

g, = 3R, (SCR) 9 2@ (TRIAC) 1 g shiT |
Compare SCR and TRIAC. A3

AR —
SECTION -C
=g 3T 6 TR § e aewr st SHriyvied! sy ST 9R % @ 2Ly q| A
(RMS value) % eI =5s1es 3T e |

Explain the working of a Bridge Rectifier with the help of a neat diagram and derive
the expression for RMS value of current. (6+2)

im wiiet f=mE (common emitter configuration) ST & HRINUTE i THHATSA
AT 3T FE1 Jel! gl o o= gy faRau |

Explain the construction and working of common emitter configuration. Write current
relations for it. (2+5+1)

TRTEHS @ﬁ@@%?ﬁ (enhancement MOSFET) & FEE FHAN HRYUTA! Bl
TS qUT 38 V-1 TS o156 s1sd |

Explain the construction and operation of enhancement MOSFET and draw its V-I
characteristics curve. (1+5+2)

I (DIAC) S SHTeE d HRIUT TSy |
Explain the construction and working of DIAC. (2+6)

SRUTTcHe s (negative feedback) o AT T U |
Describe the advantages of negative feedback. 8)

ot o wftre feoqoft foafe

() Toreew Qe

(i) SR ErE

Write short notes on following : 4+4)

(i) Crystal Oscillator
(i) Zener diode



